
ITEM No. DESCRIPTION Old PRICE ORDER

15205 1.4mm Hollow Propeller Shaft 60.00

15317 Power-Dash Motor 170.00

15318 Sprint-Dash Motor 170.00

15373 Roller Angle Adjuster Plate 120.00

15433 Mach-Dash Motor PRO 170.00

15512 Brake Sponge Set Mild 1/2/3mm Blu 180.00

15519 HG Round Hole Ball Bearings *4 530.00

94773 Mini 4WD G-2 Gear Orange *10 40.00

94801 5mm Pipe For Db1 Alu Roll *4 50.00

50197 Snap Pin 90.00

50477 24/25 T AV Pinion Gear 230.00

50478 Skyline Spare Rear Gear 350.00

51000 Hi-Torque Servo Saver [Black] 360.00

51008 Bevel gear Set/TT-01,TGS 150.00

51253 TB Evo 5 B Parts (Gear Cover) 310.00

51537 6mm Snap Pin *15 90.00

51628 3x10mm Steel Hex Head Screws*10 60.00

51631 3x12mm Steel CS HexHead Screws*10 60.00

51638 TRF420 C Parts Front Uprights 140.00

51667 TA08 06 Module Spur Gear 71T 80.00

51701 XV-02 Urethane Bumper 80.00

51746 TRF421 Drive Belt (116T) 320.00

22029 TD4 Diff Nut & Screw Set 260.00

22041 CC-02 Aluminum Rear Member 750.00

22043 Hornet Clamp Alu Wheel Hub *2 650.00

22045 TD4 Slipper Clutch Pads Whi *2 220.00

22064 TT-02 Type-SRX F Direct CupJt 450.00

22065 TT-02 Type-SRX Alu GB Joints 470.00

22066 TT-02 SRX Alu PropJt & SS Cap 330.00

22073 XV-02 Carbon BmpSpt 360.00

42278 TRF Damper L Dia Springs 330.00

42335 Aluminum TRF Tool Stand 2,500.00

42376 1260 Sealed Ball Bearings *2 280.00

53059 W.Stud Spike Tires *2 300.00

53335 Reinforced 1P Spoke Wheels*2 300.00

53440 On-Road Tuned Hard Spring Set 500.00

53443 Soft Oil [#200,#300,#400] 340.00

53468 M-Narrow Whit Mesh Wheels[+2] 260.00

53576 TRF Damper Oil Seal *4 90.00

53766 3x8mm Socket Screw / Blue*5 230.00

53767 3x10mm Socket Screw / Blue*5 230.00

53792 Universal Shaft [TT-01,TA04] 1,100.00

53823 Clamp Type Alu.Wheel Hub 5mm 750.00

53890 Swing Shaft Protector*4 210.00

54179 M-05 Ball Bearing Set 800.00

54247 3x18mm Alu. Turnbuckle Shaft*2 170.00

54250 3x42mm Alu. Turnbuckle Shaft*2 190.00

54395 3x22 LF Sus Shaft DT02&TT01 *4 190.00

54476 TT-02 Ball Bearing Set 700.00

54500 TT-02 High Speed Gear Set 68T 350.00

54501 TT-02 Aluminum Propeller Shaft 220.00

54502 TT-02 Aluminum Propeller Joint 250.00

54511 Rubber Tire Cement LoVis. 25g 400.00

54589 Gear Diff Shim Set 180.00

54604 Body Mount Extension Set 190.00

54605 M-05 Ver.II A Parts 440.00

54606 M-05 Ver.II 1pc Sus Arms 250.00

Coming Soon  On 2 October 2024

1/32 MINI SERIES

R/C SPARE PARTS

R/C HOP UP OPTION



54610 Clamp Type Ale. Whl Hub 9mm *2 390.00

54611 TBLM-02S 10.5T 2,500.00

54612 TBLM-02S 15.5T 2,500.00

54628 08 Module Steel Pinion 17T 140.00

54642 4mm Flange Lock Nut Bla *8 80.00

54669 Buggy Aluminum Hex Bub R 400.00

54753 TT-02 CVA Super Mini Shock *4 670.00

54756 3x106mm Alu. Turnbuckle Shaft 190.00

54773 Alu. Adjustable Wing Stay 2 900.00

54814 TT-02 Carbon Bumper Support 280.00

54862 Alu Servo Step Screws *4 240.00

54871 Rein. V Parts for TRF Dampers 190.00

54893 Alu. Adjustable Servo Horn 880.00

54894 TBLM-02S 17.5T 2,500.00

54954 ST Block R Bubble Tire Soft *2 440.00

54992 CC-02 Alu. Damper Spring Set 410.00


